AT e P ADM: NOL . e SCHOOL.....uvveneenns
DATE:......... [ovennnd 2021
URANGA JOINT ASSOCIATION
MATHEMATICS
FORM TWO

TIME: 2% HRS.

INSTRUCTION TO STUDENTS:
1. Write your name, admission number and class in the spaces provided above.

2. Write the date of examination in spaces provided.

3. This paper consists of two Sections; Section I and Section I1.

4 Answer ALL the questions in Section I and only five questions from Section I1.

5. All answers and working must be written on the question paper in the spaces provided below
each question.

6. Show all the steps in your calculation, giving your answer al each stage in the spaces provided
below each question.

7. Marks may be given for correct working even if ‘the answer is wrong.

S  KNEC Mathematical tables may be used, except where stated otherwise.

9. You should check the question paper to ascertain that all the pages are printed as indicated and

that no questions are missing.
10. Students should answer the questions in English.
FOR EXAMINER’S USE ONLY:

SECTION I
B2 03 (20567891011 [12 [13 |14 |15 |16 | TOTAL

SECTION I1

FRERED 2ol2inE22 | 23 | 24 JFIOTAL

GRAND TOTAL

Ensure that all the pages are printed and no question(s) are missing
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SECTION I (50 MARKS)

Answer ALL the questions in this section in the spaces provided.
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. Use logarithms to evaluate.
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4. Find the equation of the L; in the form y = mx + ¢ which is perpendic/yer to the line 3y +2x = 6
and passes through the point (-3, 4).
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14. Mr. Ombogo the principal of Chiga secondary would wish to cover the floor of the new :
administration block using the square tiles. The floor is a rectangle of sides 12.8m by 8.4m. Find the
(3mks)

: ari%ﬁf¥acl1 of the largest tiles which can be used to fit exactly without breaking
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15. The size of an interior angle of a regular polygon is (3x)° while the exterior angle is (x + 20)°. Find
the number sides of the polygon (3 Marks)

T+ v = NER S

I = HS 4
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16. In the figure below triangle ABO represents a part of a school badge./ The badge has as symmetry
of order 4 about O. Complete the figure to show the badge. (3mks)
il
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SECTION II (50MKS)
Answer 5 questions only in this section

17. The vertices of quadrilateral OPQR are O (0, 0), P (2, 0), Q (4, 2) and R (0, 3). The vertices of its
image under a rotation are O’ (1, -1), P'(1, -3) Q'(3. -5) an R(4 -1).
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(a) (1) On the grid pr0v1ded draw OPQR and its image O B Q R' 2mar S)
(b) (ll)&c/oinstructl , determing the géntre und dnglL of rotation. ﬁld,(3n.1ark

—| @, Rsohn — b
(¢) On the same grid as (a) (1) above, draw O"P"Q"R the image of O'P'Q'R' under a r¢tlection in the
line =x (3marks)

(d) From the quadrilaterals drawn, state the pairs that are:

(i) Directly congruent; (marks) | Il //{/
SRt 2 o p e -

(ii) Oppositely congruent (§marks)

" ¥l r" /Q OFr ¥R
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20.A saleswoman is paid a commission of 20% on goods sold worth over Ksh 100,000.She is also paid a
mgnthly salary of Ksh 12,000.1n a certain month, she sold 360 handbags at Ksh 500 each.
(i)  Calculate the saleswoman’s earnings that month. (3 mks)
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(ii)  The following month, the saleswoman’s monthly salary was increased by 10%.Her to total

earnings that month were Ksh17, 600.
Calculate the total amount of money received from the sales of handbags that month.(5mks)
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(i) The number of handbags sold that month. (2 mks)
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#19.2) In a safari rally drivers are to follow route ABCDA. B is 250km from A on a bearing of 075"
from A. Cisona bearing of 110° from A and 280km from B. The bearing ofpfrom Cis 040° and
a distance of 300km. By sce&ii:lrawing show the position of the point A, B, C and D. (4mks) Vel ch
e A

A o T

P
.

b) Determine Tl |
(i) The distance of A from C. A%

¢ 9 x50 & ;>.
4ys tis. | ,47 :

(i1) The bearing of B from C,

= =
BRE & %
(iii) The bearing of A from D. (1 mks)
TEMES é/

(i11) The distance A from D (2mks)
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24. A private farmer in Mwea produced 14 ,400bags of rice in 2008. This was a decrease of

20% over the production in 2007. In 2009 he increased production by 30%. In 2010, he
managed to produce 12,000 bags of rice.

a) Find the number of bags of rice he produced in;
1) 2007

%OX | 4o ,47/
f1520 bags " g

1) 2009 (2mks)

’/f;’/ K o &,
| & 720 /,@7;-

(2mks)

b) What was the percentage decrease in production in 2010 oven that of
previous year? (2mks)

g 7Uo — \Eehee /
672° (69 _ i

¢) Calculate the percentage demease n ploductlon n 2010 over that in 2007
(2mks)

(/ 2@‘00 lf) gZ‘O) = m M

d) The price per bag of rice was Ksh 3500 in 2010, how much did he get'if he
sold 65% of the produce in that year. (2mks)
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